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PUNJABI (COMPULSORY)

(Semester–VI)

Time : Three Hours] [Maximum Marks : 75

I. iksy iek dw ivSw vsqU ilKo :

(a) lokDwrw : pirBwSw Aqy l`Cx[

(A) pMjwb dIAW lok klwvW[ (12)

II. hyT ilKy AMgryzI pYryH dw pMjwbI ivc Anuvwd kro :

We believe that we can change the things around us

according to our desire. Sometimes We do not succeed in

changing things in accordance with our desires, but slowly

our desires change. The situation becomes unimportant to

us. Sometimes, we spend our days waiting for the ideal

path to appear in front of us. We forget that paths are

made by waking, not waiting. Dreaming is great but

working is greater. (9)
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III. kwrk dI pirBwSw dsidAW pMjwbI BwSw dy pRsMg ivc

kwrkI sbMDW qy ivsiqRq not ilKo[

jW

vwk qoN kI Bwv hY? pMjwbI vwkW dIAW iksmW qy ivsiqRq

ivAwiKAw kro[ (12)

IV. hyT ilkY vwkW dw ivhwrk ivSlySx kro :

(1) swfy ipMf dy bWky g`BrU ....[ (vwk ivc swfy Sbd

iks Sbd dy myl qoN pRBwivq hY[)

(2) b`lIey kxk dIey qYnUM Kwxgy nsIbW vwly[

(kwrk dI iksm pCwxy)

(3) pMjwb ivc hzwrW dI igxqI iv khwxIAW imldIAW

hn[  (ipCl`gI kwrk pCwxo)

(4) PulkwrI dI kmwl ieh hY ik k`pVy dy pu`Ty pwisE

k`FI jWdI hY[ (bxqr p`Ko vwk dI iksm d`so)

(5) idlbr cor ikSqI rwhIN aus nUM lYx jWdw hY[

(jWdw hY ikirAw dw myl iks nwl hY)

(6) c`l TIk AY Pyr drvwzy KVH ky kih do ‘kyrW’

(ies ivcoN prwDIn aupvwk pCWxo)

(6×2=12)
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V. hyT ilKy swry pRSn lwzmI hn :

(1) lokDwrw sMklp dI ivAwiKAw Awpxy SbdW ivc kro[

(2) puls dy ivhwr bwry lokDwrw ivc ikhVI khwxI
imldI hY?

(3) toBy dw purwxy smyN ivc ipMf ivc kI mh`qv sI?

(4) lokDwrw dI BUimkw pusqk ivc krnjIq isMG dy
lyK Anuswr vihm Aqy ivSvws ivc kI AMqr huMdw
hY?

(5) lok swihq Aqy viSSt swihq ivc AMqr kro[

(6) pMjwb dI lok klwvW dw pRmu`K l`Cx lyKk kI mMndw
hY?

(7) Awidm nwc bwry d`so[

(8) ip`Cl`gI kwrk kI huMdw hY?

(9) ikirAw ivSySx aupvwk kI huMdw hY?

(10) imSrq vwk qoN kI Bwv hY?

(11) krqw Aqy ikirAw dy myl dI audwhrx idE[

(12) krm nWv Aqy ikirAw dy myl vwlw vwk bxwE[

(13) myl Aqy AiDkwr nUM sp`St kro[

(14) vwk nUM pirBwiSq kro[

(15) pMjwbI vwk bxqr di qrqIb kI hY? (15×2=30)


